0000000000oooood
gogobouoobooogo

ogpoooboobooobo

gbooobgoooooobooboboooooooooobooooboobooobbboboooooobo
ubooboobooboobbooooboobooobooboboooobOoboobooboobooooboonDo

O0o0o0obo0ooooooooooooooboboooooOooADBOOODOOOOODOOOO
O000ra,rg(ra>rp >0)00000000¢t=0000000000000000Na0,Ngg
(0< Nso < Np)OODOOOOOOODOOODODODOOOO

1. 00000000000NL@), Ng)DOODODOODODDOOODOOOODD

2. 000000000000 Np(t) 00000000000000000000000 AOO
000000 Na(t)/Nr(t)) 000 00000000000000

. 00oo0oooooooobo0oooooooobooboobOD AQ0oODOOODODOOOODDOOO
gooooooobOoBOOOOOOOOOOODOOOOOOODDOODODOOOODOOO
gbooooooooboooboobooooog

goooooooooobooooooobooobooooooooooooooooooonog
Nit1 = RN,

O00O0OR>10000

1. 00000000000 vOOO¢tO0OO0O0OoOoooo000t—-o000 N, —oo00O0OOOOnO

2. 000000000000 0O0000OO0ODOOOOOOOOOODOO

O000OR>1,e>00000

000D000000000000 R/(1+4aeN)* 00000DODO NODOOOOOOODDOOO
gboooboobooooobooboooobooboon

3. 000000000000D0O00ODO CobwebOODOOOOOODOOODODOOOODOODO
gooobooboooboobooboboooobooooooog

3

00000000 D0ODODOOO0ObOO00DbO0OD0O0 LODODO+¢t0000o0bO0o0ooOOoDoooooooao
dl

— = k(Lmaa — L

il )

U000Ln..0000000000000000DODO0O0ODO

1. 0000¢t=0000000000000000OL(0O)=000000000000O0O00O0OO
L) 000 +00D00000ooo

2. Lipae =100cmOk =0.1perday 0000000000000 O0DOOOOOOOCOOODOO
ooooooogd

4

goooooooooooboobooobooDbOoOOO0o0oDOoooooooboPOHODOOOO
gboooooooooboooooboobooooboobooboooooooOooboobOobbooboOooon
oboobOobooooboboooobooooboobooobooboboboooobooobooOoobon
obooooobooooon

dH
dt
dP
dt

H
= r(l—?)H—aHP
— _;pP+bHP
goooogoog

1. 000000000000000000000000 P2PHOOOOOODOOO0OOOO00O0OOO0
gboooooooooooboooo

2. 0000000DO0O00OO0O0O0DODOOLOODOODO HOODO POODOOOODOOO
ooooooboooooooooobOooooooboO0 nKye,rpOD000000O0DOOO0Ob
gboooooboooboooboobooboooboooooooooon

5

gbooboooboooobomoooboooooboog



